
we are library people

1 / 17 

Assembly Guide

Softline, Slimline, Frontline shelving

Double-sided shelving with back panel/frame and wood/steel shelves

 

This is an assembly guide for a 3-bay shelving. 

Is is possible to connect even more bays, so the shelving may meet the required 

length

First check the contents to make sure that nothing is missing. Sort out the screws and fittings as shown.

Assemble your furniture step by step, as shown in the illustrations.

2017.11



we are library people

2 / 17 

Assembly Guide

Index

Page.             Description                               

 

1.                   Front page

2.                   Index

3.                   Part overview  

4.                   End panel for back panel

5.                   End panel for frame

6.                   Intermediate panel for back panel

7.                   Intermediate panel for frame                          

8.                   Back panel                                       

9.                   Shelving assembly for back panel

10.                 Shelving assembly for frame

11.                 Top shelves

12.                 Kickplate

13.                 Wooden bottom shelves

14.                 Wooden middle shelves

15.                 Shelving with steel shelves

16.                 Complete with Back panel

17.                 Complete with frame

 

Notice! 

The mounting of all types of shelves and kickplate is the same for both back panel 

and frame.

Make sure the shelving is level at all times, by adjusting the adjustable feet.

 

Important!!

Do not use power tools for assembly



Parts List

DESCRIPTIONQTYPART 

End panel2A

Intermediate panel2B

Back panel3C

Frame3D

Wooden double-sided top 

shelf

3E

Wooden single-sided shelf6F

Wooden single-sided shelf18F

Kickplate6G

Steel shelf24H

Steel top shelf6I

Snapfix72J

Snapfix24J

Screw for snapfix48K

Screw for snapfix24K

Pin for snapfix72L

Dowel Ø8 X 30mm12M

Bolt for minifix6N

Bolt for minifix12N

Minifix24O

Capfix24P

Adjustable foot4Q

Bushing for adjustable foot4R

Screw M6 X 45mm 

For end panel

4S

Screw M6 X 40mm 

For intermediate panel

8T

Left bracket for steel shelf30U

Right bracket for steel shelf30V

Parts List

DESCRIPTIONQTYPART

End panel2A

Intermediate panel2B

Back panel3C

Frame3D

Double-sided top shelf3E

single-sided shelf24F

Kickplate6G

Steel shelf24H

Steel top shelf6I

Screw for snapfix72J

Snapfix144 K

Pin for snapfix72L

Dowel Ø8 X 30mm12M

Bolt for minifix18N

Minifix18O

Capfix18P

Adjustable foot6Q

Bushing for adjustable foot6R

Screw M6 X 45mm 

For end panel

4S

Screw M6 X 45mm 

For intermediate panel

8T

Bracket for steel shelf-Left24U

Bracket for steel shelf-Right24V

we are library people

3 / 17 

Assembly Guide

1: Part overview

    A x 2

End panel

          B x 2

Intermediate panel

     C x 3

Back panel

              E x 6

            Wooden

Double-sided top shelf

          F x 24

        Wooden

Single-sided shelf

J x 144

Snapfix

        K x 72

Screw for snapfix

           Ø9

         M x 12

Dowel Ø8 x 30mm

      L x 72

Pin for snapfix

        

      N x 18

Bolt for minifix

O x 18

Minifix

P x 18

Capfix

       Q x 6

Adjustable foot

        R x 6

  Bushing for  

adjustable foot

    G x 6

Kickplate

 D x 3

Frame

             T x 8

  Screw M6 X 40mm

For intermediate panel

            S x 4

  Screw M6 X 45mm

      For end panel

   H x 24

Steel shelf

      U x 24

   Bracket for

steel shelf-Left

       V x 24

    Bracket for

Steel shelf-Right

        I x 6

Steel top shelf



A ( 1 : 5 )

B ( 1 : 5 )

A

B

Parts List

DESCRIPTIONQTYPART 

End panel2A

Screw for snapfix24K

Bolt for minifix6N

Adjustable foot4Q

Bushing for adjustable foot4R

we are library people

4 / 17 

Assembly Guide

2A: End panel for back panel

2.1: Assemble two end panels

N

A

Q

R

K



A ( 1 : 5 )

B ( 1 : 5 )

A

B

Parts List

DESCRIPTIONQTYPART 

End panel2A

Screw for snapfix24K

Adjustable foot4Q

Bushing for adjustable foot4R

we are library people

5 / 17 

Assembly Guide

A

2.1: Assemble two end panels

2B: End panel for frame

K

R

Q



A ( 1 : 5 )

B ( 1 : 5 )

Parts List

DESCRIPTIONQTYPART 

Intermediate panel2B

Screw for snapfix48K

Bolt for minifix12N

Adjustable foot4Q

Bushing for adjustable foot4R

A

B

we are library people

6 / 17 

Assembly Guide

3A: Intermediate panel for back panel

3.1: Assemble two intermediate panels

N

B

K

Q

R



A ( 1 : 5 )

B ( 1 : 5 )

Parts List

DESCRIPTIONQTYPART 

Intermediate panel2B

Screw for snapfix48K

Adjustable foot4Q

Bushing for adjustable foot4R

A

B

we are library people

7 / 17 

Assembly Guide

3.1: Assemble two intermediate panels

3B: Intermediate panel for frame

B

K

R

Q



A ( 1 : 5 )

B ( 1 : 5 )

Parts List

DESCRIPTIONQTYPART 

Back panel3C

Dowel Ø8 X 30mm12M

A

B

we are library people

8 / 17 

Assembly Guide

4: Back panel

4.1: Put dowels into the 8mm holes in back panel

C

M

M



A ( 1 : 5 )

Parts List

DESCRIPTIONQTYPART 

End panel2A

Intermediate panel2B

Back panel3C

Minifix24O

Capfix24P

A

we are library people

9 / 17 

Assembly Guide

5A: Shelving assembly for back panel

5.1: Start by connecting the two intermediate panels 

       with one back panel 

5.2: Put in minifix (see picture A)

5.3: Connect other back panels and end panels

5.4: Put in minifix

 

Notice!

Make sure the shelving is level at all times,

by adjusting the adjustable feet.

 

Important!

Use minifix to tighten up the shelving 

using a screwdriver.

Do not use power tools.

A

C

B

C

B

C

A

P

O



B ( 1 : 5 )
A ( 1 : 5 )

Parts List

DESCRIPTIONQTYPART 

End panel2A

Intermediate panel2B

Frame3D

Screw M6 X 45mm 

For end panel

4S

Screw M6 X 40mm 

For intermediate panel

8T

B

A

we are library people

10 / 17 

Assembly Guide

5B: Shelving assembly for frame

5.1: Connect the two intermediate panels 

       with one frame. Use screw S 

5.2: Connect other frames and end panels.

       Use screw R for end panels

 

Notice!

Make sure the shelving is level at all times, 

by adjusting the adjustable feet

T S

A

D

B

B

D

A

D



Parts List

DESCRIPTIONQTYPART 

Wooden double-sided top 

shelf

3E

Snapfix24J

we are library people

11 / 17 

Assembly Guide

6: Top shelves

6.1: Fix snapfix into the top shelves

       (see picture A)

6.2: Mount top shelves onto shelving

A ( 1: 10 )

E

J



Parts List

DESCRIPTIONQTYPART 

Kickplate6G

Snapfix24J

we are library people

12 / 17 

Assembly Guide

7: Kickplate

7.1: Put snapfix into the kickplates

       (see picture A)

7.2: Mount kickplates onto shelving

A ( 1:10 )

J

G



Parts List

DESCRIPTIONQTYPART 

Wooden single-sided shelf6F

Snapfix24J

we are library people

13 / 17 

Assembly Guide

8: Wooden bottom shelves

8.1: Put snapfix into the shelves

       (see picture A)

8.2: Mount shelves onto shelving

A ( 1: 10 )

F

J



B ( 1 : 10 )

Parts List

DESCRIPTIONQTYPART 

Wooden single-sided shelf18F

Snapfix72J

Pin for snapfix72L

B

we are library people

14 / 17 

Assembly Guide

9: Wooden middle shelves

9.1: Put snapfix into the shelves

       (See picture A)

9.2: Put in pin for snapfix

       (See picture B)

9.3: Mount shelves onto shelving

A ( 1: 10 )

F

J

L



A ( 1 : 7,5 )

A

Parts List

DESCRIPTIONQTYPART 

Steel shelf24H

Steel top shelf6I

Left bracket for steel shelf30U

Right bracket for steel shelf30V

we are library people

15 / 17 

Assembly Guide

10: Steel shelves

U

10.1: Put in brackets for steel selves. 

         1 x Left bracket for steel shelf and

         1 x Right bracket for steel shelf.

         for each shelf in the required height.

10.2: Mount shelf on to brackets.

H



we are library people

16 / 17 

Assembly Guide

11A. Complete with back panel



we are library people

17 / 17 

Assembly Guide

11B. Complete with frame


